
Positions Set de vis à utiliser
Screws set to use

1 M5x40 (4pcs)

M5x35 (3 pcs) +  M5x20 (1 pcs)

2

M5x35 (1 pc) + M5x20 (2 pcs)

M5x30 (1 pc) +  M5x20 (2 pcs)

M5x20 (3 pcs)

3 M4x35 (3 pc) +  M4x20 (2 pcs))

4 M4x35 (3 pcs)

5 M5x35 (3 pcs)

Marques / Brand
XAC540 XAC560 XAC740

APRILIA À relever 1 À relever

BMW 1 / 1

DUCATI 1 - 2 / /

HONDA 3 - 4 - 5 3 3

KAWASAKI 2 / /

KTM 1 1 1

MOTO GUZZI À relever 1 /

SUZUKI 2 2 /

TRIUMPH 1 1 /

YAMAHA 2 5 2

SCHÉMA 1  / DIAGRAM 1

SCHÉMA 2  / DIAGRAM 2

SCHÉMA 3  / DIAGRAM 3

Positions des vis / Positions of the screws

Vis disponibles /Screws available

CONSEIL / ADVICE

Position

Diamètre trappe 
bouchon réservoir 

Diameter of the tank 
cap opening

Références
References

Ø ≈ à 8,2 cm
XAC540

XAC740

Ø ≈ à 7,7 cm XAC560

SCHÉMA 4  / DIAGRAM 4

SCHÉMA 5  / DIAGRAM 5

Avant d’acheter, pensez à faire un test de compatibilité chez 
l’un de nos revendeurs partenaires 

Before making your purchase, we recommend visiting one of 
our partner retailers for a compatibility test

POSITION 1 POSITION 3

POSITION 4 POSITION 5

POSITION 2

M5X40

M5X35

M5X30

M5X20

M4X35

M4X20

Ch#s- et install" s$ int"face Lock’ n St%t 
CHOOSE AND INSTALL YOUR LOCK’N START INTERFACE

CHOISISSEZ VOTRE INTERFACE
CHOOSE YOUR INTERFACE

POSITIONNEZ VOTRE INTERFACE
POSITION YOUR INTERFACE

SÉLECTIONNEZ VOS VIS
SELECT YOUR SCREWS1 2 3


